नामांक

Enrolment No. 14R/50322

अनुक्रमांक Roll No. <u>18LLM50022</u>

जय नारायण व्यास विश्वविद्यालय, जोघपुर

202090

(पूर्व जोधपुर विश्वविद्यालय)

प्रमाणित किया जाता है कि	हेमंत कुमार	18LLM50022
पुत्र/पुत्री श्रीमती	सुमित्रा देवी	
एवं श्री	राम सिंह	
ने इस विश्वविद्यालय से	<u>2019</u> की परीक्षा में	

मास्टर ऑफ लॉज

की उपाधि <u>6.71</u> सी. जी. पी. ए. के साथ प्राप्त की ।

JAI NARAIN VYAS UNIVERSITY, JODHPUR (ERSTWHILE UNIVERSITY OF JODHPUR)

This is to certify that	HEMANT KUMAR
Son/Daughter of Smt	SUMITRA DEVI
and Shri	RAM SINGH
obtained the degree of	

MASTER OF LAWS

of this University in th	e			
Examination held in	2019	with	6.71	C.G.P.A.

Vice-Chancellor वाइस चान्सलर

Conferred by Senate on 18 FEBRUARY,2021



सह जिला विद्यालय निरीक्षक





JAI NARAIN VYAS UNIVERSITY, JODHPUR

STATEMENT OF MARKS

LL.M. (CBCS) HUMAN RIGHTS FOURTH SEMESTER EXAMINATION 2019

CANDIDATE'S NAME

: HEMANT KUMAR

: REGULAR

FATHER'S NAME

: RAM SINGH

ROLL NO.

: 18LLM50022

MOTHER'S NAME : SUMITRA DEVI

ENROL. NO. : 14R/50322

	SUBJECTS	CCA (30)	ESE (70)	TOTAL (100)	Grade	Grade Point	Credit Point	CiGi= Ci*Gi	SGPA
LL.M. 401H	CONCEPT AND DEVELOPMENT OF HUMAN RIGHTS-II (THEORY)	15	30	45	С	5.0	6	30.0	
LL.M. 402H	HUMAN RIGHT IN INTERNATIONAL AND REGIONAL PERSPECTIVE -II (THEORY)	19	50	69	B+	7.0	6	42.0	
LL.M. 403H	HUMAN RIGHT : ENFORCEMENT MECHANISM-II (THEORY)	21	38	59	В	6.0	6	36.0	
LL.M. 404H	HUMAN RIGHTS AND SPECIAL INTEREST GROUPS : CHILDREN (THEORY)	21	45	66	B+	7.0	6	42.0	
LL.M. 405H	INTERNATIONAL HUMANITARIAN LAW AND REFUGEE LAW-II (THEORY)	19	57	76	A	8.0	6	48.0	
LL.M. 406H	SCIENCE, TECHNOLOGY AND HUMAN RIGHTS-II (THEORY)	21	54	75	А	8.0	6	48.0	
LL.M. 407H	DISSERTATION & VIVA-VOCE (PRACTICAL)	22	45	67	B+	7.0	6	42.0	
		138	319	457			42	288	
						SGPA	6.86	CGPA	6.71
RES	ULT : QUALIFIED FOR DEGREE						GRA	DE : B+	•
SKILL COURSE : IV - CRIMINOLOGY, PENOLOGY & VICTIMOLOGY						SAT	ISFACT	ORY	

JODHPUR

DATE: 07/12/2020

CONTROLLER OF EXAMINATIONS

COLLEGE OF STUDY: (006) FACULTY OF LAW MOHANPURA PULIYA, OLD CAMPUS, JNVU, JODHPUR



JAINARAIN VYAS UNIVERSITY, JODHPUR

STATEMENT OF MARKS

LL.M. (CBCS) FIRST SEMESTER EXAMINATION 2018

HEMANT KUMAR

: REGULAR

RAM SINGH

ROLL NO.

: 18LLM50022



SUMITRA DEVI

ENROL NO

: 14R/50322

	SUBJECTS	(30)	ESE (70)	TOTAL (100)	Grade	Grade Point	Credit Point	CiGi= Ci*Gi	SGPA
LL.M.CC 101	LAW AND SOCIAL TRANSFORMATION IN INDIA-I (THEORY)	17	44	61	B+	6.5	6	39.0	
LL.M.CC 102	INDIAN CONSTITUTIONAL LAW: THE NEW CHALLENGES-I (THEORY)	20	43	63	B+	6.5	6 .	39.0	
LL.M.CC 103	JUDICIAL PROCESS (THEORY)	13	43	56	В	6.0	6	36.0	
LL.M.CC 104	LEGAL EDUCATION AND RESEARCH METHODOLOGY- I (THEORY)	21	50	71	А	7.5	6	45.0	
LL.M.CC 105	LAW DEVELOPMENT AND DECENTRALIZATION-I (THEORY)	17	38	55	В	6.0	6	36.0	
-		88	218	306			30	195	
						SGPA	6.50	CGPA	6.50

RESULT: ELIGIBLE FOR NEXT SEMESTER

Skill Course:

LL.M.SC 106 - INTERPRETATION OF STATUTES

SATISFACTORY

JODHPUR

DATE: 26/07/2018

CONTROLLER OF EXAMINATIONS

College of Study: (006) FACULTY OF LAW MOHANPURA PULIYA, OLD CAMPUS, JNVU, JODHPUR

सह जिला विद्यालय निरीक्षक



JAINARAIN VYAS UNIVERSITY, JODHPUR

STATEMENT OF MARKS

LL.M. (CBCS) SECOND SEMESTER EXAMINATION 2018

HEMANT KUMAR

: REGULAR

SATHERIS NAME

RAM SINGH

ROLL NO.

: 18LLM50022

OF THE PRINCIPLE

SUMITRA DEVI

ENROL NO.

: 14R/50322



-	SUBJECTS	(30)	(70)		Grade	Grade Point	Credit Point	CiGi= Ci*Gi	SGPA
	AW AND SOCIAL FRANSFORMATION IN INDIA -	20	44	64	B+	6.5	6	39.0	
*	INDIAN CONSTITUTIONAL LAW: THE NEW CHALLENGES - II (THEORY)	18	42	60	B+	6.5	.6	39.0	
	JUDICIAL PROCESS-II (THEORY)	18	45	63	B+	6.5	6	39.0	
	LEGAL EDUCATION AND RESEARCH METHODOLOGY-II (THEORY)	18	61	79	A	8.0	6	48.0	
	LAW, DEVELOPMENT AND DECENTRALIZATION-II (THEORY)	18	37	55	В	6.0	6	36.0	
		92	229	321			30	201	
SGPA SEM 1	6.50					SGPA	6.70	CGPA	6.60

Skill Course:

LLM - 206 - LEGAL AID, PARA LEGAL SERVICES AND PUBLIC INTEREST LITIGATION

SATISFACTORY

TRaishman

JODHPUR

DATE: 29/05/2019

CONTROLLER OF EXAMINATIONS

College of Study: (006) FACULTY OF LAW MOHANPURA PULIYA, OLD CAMPUS, JNVU, JODHPUR

सह जिला विद्यालय निरीक्षक



JAI NARAIN VYAS UNIVERSITY, JODHPUR

STATEMENT OF MARKS

LL.M. (CBCS) HUMAN RIGHTS THIRD SEMESTER EXAMINATION 2019

CANDIDATE'S NAME

: HEMANT KUMAR

: REGULAR

FATHER'S NAME

: RAM SINGH

ROLL NO.

: 18LLM50022

MOTHER'S NAME

: SUMITRA DEVI

ENROL. NO.

: 14R/50322



	SUBJECTS	CCA (30)	ESE (70)	TOTAL (100)	Grade	Grade Point	Credit Point	CiGi= Ci*Gi	SGPA
LL.M. 301H	CONCEPT AND DEVELOPMENT OF HUMAN RIGHTS-I (THEORY)	17	45	62	B+	6.5	6	39.0	
LL.M. 302H	HUMAN RIGHT IN INTERNATIONAL AND REGIONAL PERSPECTIVE -I (THEORY)	16	36	52	В	5.5	6	33.0	
LL.M. 303H	HUMAN RIGHT : ENFORCEMENT MECHANISM-I (THEORY)	16	45	61	B+	6.5	6	39.0	
LL.M. 304H	HUMAN RIGHTS AND SPECIAL INTEREST DISADVANTAGED GROUPS: WOMEN AND CHILDREN-I (THEORY)	20	42	62	B+	6.5	6	39.0	
LL.M. 305H	INTERNATIONAL HUMANITARIAN LAW AND REFUGEE LAW-I (THEORY)	20	42	62	B+	6.5	6	39.0	
LL.M. 306H	SCIENCE, TECHNOLOGY AND HUMAN RIGHTS-I (THEORY)	20	50	70	А	7.5	6	45.0	
LL.M. 307H	NON DOCTRINAL RESEARCH PROJECT (PRACTICAL)	. 22	53	75	А	8.0	6	48.0	
		131	313	444			42	282	
SGPA SEM	1 6.50 SGPA SEM 2 6.	70				SGPA	6.71	CGPA	6.65
RESULT	RESULT : ELIGIBLE FOR NEXT SEMESTER								

Skill Course: LL.M. 308: ADMINISTRATIVE LAW

Satisfactory

TRaishmori

JODHPUR

DATE: 06/02/2020

CONTROLLER OF EXAMINATIONS

College of Study: (006) FACULTY OF LAW MOHANPURA PULIYA, OLD CAMPUS, JNVU, JODHPUR

* 1 0 5 8 4 0 6 5 *

Gud

शह जिला विद्यालय निरीक्षक मथरा